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The analysis of magnetic field (o= 10)

Vorticity strength(-) Strain strength(+) Vorticity
700 4_4 j:‘\\ Yl —v , 5 |7 RS
600 - = h = * 102

500 4

10!

100

T T T T T
2600 2800 3000 3200 3400
X

H
o
i

Arcsin(As/s - Ag/lql)

"‘ -'j “_
..J oy 5 e

700

H
o
A

600

500

400

=
9
]

300

200

Horizontal magnetic tension force [(Bxdx + B9y )(Bx, By)|

100

H
9
=Y

— | _“-'-'ill
2600 2800 3000 3200 3400
X X




o

J

=]

IR & SHZDOHR

« FZTRELE
« MEOBOBEBHHTOFEMZIGAL T, BFOEI[Y axr 3 v
mEDRARDOE ST BBHET ST ENTE /-,
« HEEFO2RITIIaL—TarTEETIHESY 327> 3 HEE
CHRBEZTBEHET A ENTE I,

1

il

» SR OB ETE
¢« WXEDORKETIZROH, /) aAxT v arxRET 5,
- WREIREITLIT—XZ2HML. MK I3Ix7a vy OoRETFAICE
BRCE WA ZIRET L 72U,
+ BRTOHBRMRAEFRDOR/CHEHI[Y X7 a v ERTET 5,




QL

Ao

5
W5 Z

Yap

d\Vorticity Strength, Strain Strength% £ - 7-F &% H
CICE T WEE WK 3% 7 a3 UAKEIZIA

FEENBZICHELIONDE T ERbhH -7,
¢« IBIT, FNHLDOEEEBIVCa THFEL, EX NI T LA

(R

t (/:)ﬁlj] L/7L\:o

« aZTRBIEICLLT, ENHE DRREMB VorticityH
StrainRimeH B T ENTE 7=,

e ANBHIAIAREODAEOLONLRICENINGELGDEEND
RRZHE LT,



o0

3 /0N

HYHE DT I

C

- 7=,



The analysis of magnetic field(t = 0000)(s=0010)
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The analysis of magnetic field(t = 0000)(s=0010)
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The analysis of magneticfield (o= 0 )(t= 0)
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The analysis of magneticfield (o= 10)(t= 0)
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The histgram of each physical quantities (o= 0 )(t= 0)(x,y)=( 0-4996, 0-2043)
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The analysis of magnetic field(t = 0000)(s=0100)

vorticity strength(-) strain strength(+
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The analysis of magnetic field(t = 0000)(s=0001)

vorticity strength(-) strain strength(+) vorticity
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The analysis of magnetic field(t
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The histgram of each physical quantities (o = 10 )(x,y)=( 0-4996, 0-2043)
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The analysis of magnetic field (o= 10 )(t=
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